How to use Instrumental VVariables

Questions that can be answered with experiments:
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Questions that can’t be answered with experiments:
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How you can’t answer nonexperimental questions:
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How to approach nonexperimental questions
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In terms of regressions
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How do you find instruments?
How do you know if possible instruments are relevant and valid?
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Statistical methods to test whether candidate Z’s are relevant, strong & valid
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Are lagged Y



Are lagged Y’s and/or X’s valid instruments?_con')
Example: supply and demand
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Bottom line for you
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